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GENERAL INSTRUCTIONS TO THE EXAMINEES:

9T U i @l o T8 I8 w1e
TEAR HERE TO OPEN THE QUESTION PAPER

1) wdeneff Tdgem qUS YT U W AR AfHarEE: o |

Candidate must write first his’lher Roll No. on the question paper
compulsorily.

2) st we W AP ¥

All the questions are compulsory.

3) AT U HT IW & ME Iw-Yfeaant A € ford |
Write the answer to each question in the given answer-book only.
4) 99 gvai ¥ erafier @UE 2, 39 At & IW U wy § ford |

For questions having more than one part the answers to those parts
are to be written together in continuity.
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5) UyA U= o Tt @ afiisht wutaw # forelt wenr i gfe / evaw / fedienyma g w T
WTYT ok 99 shi TF A |

If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated valid.

6) LCLS Uy EE&T 3k U U 3T Sl IIeg WA
S| 1-10 1 10 s15g
q 11-18 2 20 vr5g
q 19-27 4 30-40 w155
T 28-30 6 250-300 vreg
Section Q.Nos. Marks per Word limit
guestion of answer
A 1-10 1 10 words
B 11-18 2 20 words
C 19-27 4 30-40 words
D 28-30 6 250-300-words

7) uea stk 28,29 qen 30 ® etk fashed E |
Question Nos. 28, 29 and 30 have internal choices.

Wis - A
SECTION - A
1) sufdew veie &t ufiva S | [1]
Define an economic agent.
2) veaE™ w1 E? [1]
What is depreciation?
3) YuiaaT Seie WHT T Ush 3ETEA0T ST | [1]

Give an example of perfectly inelastic demand.
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4)

5)

6)

7)

8)

9)

TN S U ATUhT HAT ATHITT 22
What do you understand by budget set?

T HT NG I3k ATIATRR ATATURTAS 3ATHRTd T grem 8 ?
Which cost curve is a rectangular hyperbola?

AT AfIAT 61 v feaRam |
What is meant by liquidity preference.

uTe w1 form weum wusTEd |
Explain deficit finaneing.

‘Tefrm urftea’ 6kt ar=ran s1.are faRaw |
Write the meaning of “Ceteris Paribus".

T =1 Ao wwETE |

Explain the meaning of investment.

10) =g srofeuaten | AT FAT AHIA 2 7

What do you understand by a closed economy.

wig - o

SECTION - B

11) dsfrare srefeagen & @i @t favivand fofau |

Write any two characteristics of a capitalist economy.
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12) wim Y == sl qwETSd |

Explain the elasticity of demand.

13) U¥h SR TAHTIS TEqail il IETE0T hl TEEAT § AWATSY |

Explain complementary and substitutes with an example.

14) IR gfd =t U arferent & wreaw | qusAed |

Explain market supply with the-help of a table.

15) g &% ader TaTg i qHSATSA |

Explain the circular flow of-income.

16) 1% HFTER AR ford d & faedt 3 T wEt w faRag |

What according to you are two major functions of RBI.

17) = wifwhorrelt g1 & 9@ ges fafau |

Write the main components of high powered money.

18) mufires e w1 gt ferfam |

Write the formula for primary deficit.
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WUE - |
SECTION - C

19) SUNIHT & TTEAW TIA HI SUYH @ h TEEAr A qHATSY | [4]
Explain the optimum choice of a consumer with the help of a diagram.

20) <t T2 ARt @ AT A R AN, 3Ea aiEadi dnTd, TeUshleld 3iad «iTd 3R
YT AT NG Jedi bl 7T ik - [1+1+1+1=4]
fria  FoReR Founadl Fo  siiEd Jftdd oTed.  3Ted.

(FHTEAT) P AN @ra R Ene afiadiarma eoftaa ST
WA R

10 0 10 - - - -

10 20 30 10 20 30 ?

10 35 45 ? UAS ? 15

10 45 55 | 3.33 ? 18.33 10

From the given table calcul ate the missing average fixed cost, average variable

cost, short term average cost-and short term marginal cost.

Output TFC TVC'  _TC" AFC AVC SAC SMC
(units)
0 10 0 10 - - - -
1 10 20 30 10 20 30 ?
2 10 35 45 ? 17.5 ? 15
3 10 45 55 3.33 ? 18.33 10

w N B+ O

21) IUTET e T g ? SEehTe A 3 AeUehTed IcUTed Weld hi 370 Tohd T ® AT ATAT
27 [2+2=4]
What is a production function? What are the other names of long term and short
term production functions?

22) rfemtn o stfeyfd it Sugeh @t & Wieaw | a6 | [2+2=4]
Explain excess demand and excess supply with suitable diagrams.
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23) g e TUET <kl Geaatda fafy o d@ag # guia ki | [4]
Explain the value added method of National Income Measurement.

24) et yfd % 9R TqE Uk AHATSU | [1+1+1+1=4]
Explain the four major components of supply of money.

25) weatidta 3R e e #§ 9 iR | [2+2=4]

Distinguish between ex-ante and ex-post investment.

26) R TAE AR T H-TAET & S—al IS0 ferRae-| [2+2=4]

Write two examples of tax revenue and.non-tax-revenule.

27) W= fatma X gomet W d@9g | g9 | [4]

Explain in brief the flexible-exchange rate mechanism.
Wug - ¢

SECTION - D

28) uftadt iUl o fem dit Wi st g § e S | [6]
Explain the law of variable proportions with the help of diagrams.
srerar/OR
wH & gid ok & Fuite et &0 auiA fikm |

Explain the factors determining the supply curve of afirm.

29) gui ufqeifiar @ 27 gut gfeaifmar am f e e aasa | [2+4=6]

What is perfect competition? Write the major characteristics of a perfectly
competitive market.
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30)

7
31aat/OR

FEUTIRR IR T 27 TeUTaehr § ®H el STagR &l 27

What is oligopoly market? How do firms behave in oligopoly?

Tich TR 9 TATE TR o Wed e VT | WA G hi TR i =A@t HIf |

[2 +4 =6]

Differentiate between stock and flow variables. Discuss the concept of inventory.

srerat/OR
= srmumument wt Towe i
) T W IUE
i) W U IeTg
i) e ada swurg
V) we ema W Hae T Icag
V) Safhe
vi) =afeTa gaea o

Explain the following concepts:

)

i)
iii)
%)
v)

Vi)

Gross Domestic Product

Gross National Product

Net National Product

Net National Product at factor cost
Personal Income

Disposable Persona Income

SISIS
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